(i1) ugly (change into noun)
(ii) honest (change into noun)
(iv) He was standing ............... the table. (insert the
correct preposition)
(v) He thrust the money ............. his pocket. (insert
the correct preposition)
(vi) Go and sit ................. .... the room. (insert the
correct preposition)
(vii) Quick (change into adverb)
(viii) Slow (change into adverb)
(ix) Sad (change into adverb)
{x) Give the synonym of: entire
(xi) Give the synonym of: calm
(xii) Give the synonym of: sad
(xiii) Give the antonym of: dead
{xiv) Give the antonym of: far
(xv) Give the antonym of: polite. 12

7. Write a paragraph of about 200 words on any one of the
given topics :

(a) Girl Child.

(by TV Serials.

(¢c) Mental Health.

(d) Friendship. 8

701/20,900/KD/345 4
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Time : Three Hours) [Maximum Marks : 80

1. Transcribe any eight of the given words :

Top, feet, air, gold, table, hot, girl, shirt, serve, father, window,
gate. 8

2.  Answer any four of the foliowing questions in about 30
words each :

(a) What is the second element that makes up the identity
of an individual?

(b) What does the 'World Tragedy' refer to?

(¢c) How did Gandhiji's faith in vegetarianism grow?
(d) How can one achieve excellence in life?

(¢) According to Shastri ji, who is a good citizen?

()  Where is Khyber Pass located? (4x2=8)

3.  Answer any five of the following questions in 75 to 100
words each:

(a) Write about the positive side of rebelliousness.

(b) What is the result of the 'paralyzing effect’?

() How is the vision of a culture formed?

(d) ~Describe the relationship that Gandhi ji shared with his

friend.

701/20,900/KD/345 [P.T.O.
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{e) According to Dr. Kalam, what influence does a story
have on our mind?

()  What is the importance of fostering a good work
culture?

(g) Enumerate the various things that Nehru spoke to the
peasants about.

(h)  What do scriptures say about the origin of the Universe?
(4x5=20)

Read the passage given below and answer the questions that
follow :

Rebelliousness against parents is a natural, inevitable aspect
of adolescence. It assists in giving up the comforts and
security of home, achieving real independence, working for
progress,

The most basic problem for the young person, though he
doesn’t really think of it in these terms, is to find his own
identity, to find out what sort of person he really desires to
be and to get started being a person. This doesn't mean Jjust
the specific job he'll take or the hobbies he'll enjoy. It means
the kind of personality he'll end up with, how he'll be thought
of by his friends, family and himself. It is not so much a
matter of coming to conscious decisions — it's gaining a sense
of being as an independent person, with a job to do.

(a) Who is the author of these lines?
(b) What is the most basic problem for a young person?
(c) What is the positive side of rebelliousness?

(d) What is the ultimate goal of a young person? 4

701/20,900/KD/345 2

Make sentences of your own from any eight of the given
words :

Dark, love, sin, work, never, suddenly, lost, force, book,
shade, obey, defend ‘ 8

(a) Supply the correct form of the verbs given in brackets
in any twelve :

(i) Who ....ccoovvnnnn, your teacher? (be) .
(i) It ... e for three hours. (rain)
(i) The earth ..................... around the sun. (revolve)
(iv) T just ...... e ——— making that chart. (finish)
(v) Tomorrow,I........ Ceeernrnns eight years in this house.
(complete)
(vi) Be careful, you ..... sverennennns 100 fast. (drive)
(vii} Yesterday, she .......... ...... beautifully. (sing)
(vii)) Love .ovvveeeeeen, blind. (be)
(ix) The theft ................. .... during the night. (happen)
(x) He always ..................... a white shirt. (wear)
(xi) You are ordered to ............. perres at once. (leave)
(xit) Where ......ccooveen.. since morning? (be)
(xiii) Fifty million dollars ................... .. a lot of money.
(be)
(xiv) Please don't ................. e . (Weep)
(xv) T will ........ berevrrneans as you say. (do) 12

(b) Do as directed (any twelve) :

(1) intelligent (change into noun)

701/20,900/KD/345 3 [P.T.O.
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GSE/D-19 702
ENGLISH

[Maximum Marks : &0

Note : All questions are compulsory.

1.

Give phonetic transcription of any eight of the following

words:

Greet, food, duty, faith, prophet, sky, order, historical,
enough, one, monkey, back. 08

Answer any four questions in about 30 words each: 08

{a)
(b)

(c)

(d)

(e)

()

Describe Bumba. (Choosing Our Universe)

Why is rebelliousness common in young people?
(The Generation Gap)

Can man be defined fully?
(Language and National Identity)

How can we realise the pain of the suffering of the

mute? (The Wounded Plants)

How did Gandhiji's faith in vegetarianism grow?
(Playing the English Gentleman)

What question did Nehru ask the crowd as they greeted
him with slogans? (Bharat Mata)

702/11,350.KD/1453 [P.T.O.
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3. Answer any five questions in about 75-100 words each : ) ¢

(a)

(b)
(¢)

(d)

(e)

()

(g)

(h)

.

Discuss the note on which the essay "Are Dams the
Temples of Modern India" ends.

Justify the title "The Generation Gap".

How is the vision of a culture formed? "Language and
National Identity”

What is the significance of the three series of
investigation in the essay "Wounded Plants"?

‘But henceforth I became a student": Explain the events
and thoughts that led Gandhiji to arrive at this.

What is the culture of excellence according to
Dr Kalam?

What is the importance of fostering a good work
culture? (The Responsibility of Young Men)

Who according to Nehru is Bharat Mata?

4. Read the given passage and answer the following questions:

Creation myths like these attempt to answer the questions
we address... Why is there a universe, and why is the universe
the way it is? Our ability to address such questions has grown
steadily in the centuries since the ancient Greeks, most
profoundly over the past century.... We are now ready to
offer a possible answer to these questions.

Questions : |

(a) Name the essay and the author.

(b) What ideas does the essay discuss?

702/11,350/KD/1453 2

(c) According to the myths, the first man originated
................ (complete the sentence)
tdi Form two words using the mcmmw Sy
5. 1a) Give synonyms of any four words: 04
Pain, begin, clarity, raise, urge, polite.
'b)  Give anonyms of any four words: 04
Polite, obey, same, work, inferior, flow,
6. (a) Fillin the blanks with correct form of tense of the verbs
given in brackets of any rwelve sentences :
(i) Goats ... (eat) grass.
(i) Seema ... . (not drink) coffee,
(ili) The train ... . R (leave) the platform,
(iv) They ....... ... {have) a few fights over this.
(v) Mysisterisa novelist, She ....... ceereen (Write) novels
since 2000.
(vi) Two plus two e (make) four,
(vil) How ......... YOUu ................ (know) where I lived?
(viii) At last you are here! I ... (wait) for you for
over twenty minutes.
(ix) When Queen Victoria ........ -...(die) in 1901, she
(reign) for over 60 vears.
(x) They ..o, (go) home tomorrow.
702/11,350/KD/1453 3 [P.T.O.



(b)

{xi) Rajiv ............... (meet) vs next month.

(xii) Sanjiv ............. (finish) his work by 7 pm
tomorrow.

(xiii) By 2020, Dr. Sen ............... (work) in this college
for 30 years.

(xiv) The sun ................ (rise) in the east and ..................
(set) in the west.

xv) I ... (be) a teacher.

Do as directed. Attempt any fwelve sentences. Insert
correct preposition in the blank.

(i) I prefer tea ............ coffee.

(it Lalit jumped ............... the wall.

(i11) The shop is ............... my flat,

(iv) Air travel is a common mode ............. vens travel.

Rewrite the following sentences into their interrogative
forms :

(v) Mohit studies every day.

(vi) Mohan plays football.

Fill in the blanks with suitable pronouns :

(vii) Something is better than ................

(viii) God helps those ................ help themselves.

(ix) I am doing .............. work,

Fill in the blanks with correct adjective :

(x) Ramesh is my ...coccovevcrvnnenn. {old) brother.

(xi) Dhoni won the ................ (good) cricketer award.

(xii) We have invited {much/many) guests to the
party.

702/11,350/KD/1453 4

.

Correct the following sentences if necessary .
(xiii) Rose smells sweetly,

(xiv)Firstly we should go to the canteen and then to
our class.

(xv) Literature has no other purpose but entertainment.

7. Attempt a paragraph in about 200 words on any one of the
given topics: -
(a) My First Day in College.
(by My Favourite Game.
(c} Women Empowerment.
(d) Elections in Haryana.
702/11,350/KD/1453 &
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fagdt atgar FaR d 9 Trdl ww wfe w ofefas
TR Afw) 8
g g R ouR oW ® SR o 150 v R
#fu: (4x4=16)
(F) WHE # fag-aea ® wFm e

(@) FE™ 3 ol ofEE § fRad e = SR @

27

() e #1 afF-a9 W 9FW e

(W) faerd 1 g wfa = wwm o™ 22

(F) WA= F ‘YW w1 W F FY = owe S 0
(9) (RS w1 TEfeE dSaW # g0 wifg

frafafas § @ fF @ oAl & I Sifsw:

(F) =<t ufem # sfem o=@ # ww W W
T

(@) AfFm ® T e we Fwit

() 7w F WIS, Tofaes iR anftfe afifeurfa)
w1 ufmg s

() T8 F17 T W TF of@ fafau (8x2=16)

im@i%mﬂ.ﬁ&.@ﬂ“
(F) 7 ARFHT F TOE FE I 2
(@) g™ d F H -t | owwe i
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6.

7.

Qvi%%ﬁﬂd%ﬂmﬂﬂﬂxﬂ%
fFa-frm faget & fFam?
(T) enfgwa F F fAdRe W oalan Fwi
(5x2=10)

frm 4§ @ WA # I G

(F) ST W F ofam @ TR A

(@) 3T FFFER F IRAW wE AW

(M) WO = Afm R FEe ¥ oIIEw wfE W=
FHifT

(9) T8 0 I T HI (5x2=10)

frafafes agie WAl ® I T

(F) ‘g T fFw wfa w1 = E2

(T) WEA 1 @ TH F 9

(M) T ¥ B wE-m 2

(W) ‘fortt mawi' & TefE wW

() Fhamet d wo fFam wme ¥

(9) @™ F T F F AR Aq1?

(®) ‘v’ frg W & O 9E wa R0

(W) B2 fFA TR F T ¥? 8

707/30,300/KD/144 3



8, fFf il & S dem H .
(F) 3k ge 1 wfe w® ol w1
(@) afwm ¥ fag wft = feooht %)
(7 faomfs & F=3 %1 wafEl wod)

() e w1 gmifae offfi 1 faaor =il
(4+4=8)

9. uift Wi #F I v :

(F) F B} G T AW WY

(@) {EET 5 FA €9 F1 9 T

(M sfewm ® @eEw w@ fFE FEoan

(9) ‘TREEH % HEEE s 82

(F) gaFeR ® Wi =1 = 7" 82

(7) fet +1 wom wemwEE RFE I W 27

(B) wifw R T IR W R T Fw oA e &2

() ‘HEET F @ AR YENE %8 gem?
(148=8)
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B TR Fo9, @IS TEH TM,
qE AT ATAA H1 GG STIHH
(@) Ifg # va9m H§ Iza TN SEEE
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2.

4,

‘FEET F OE HIRH W wEW e
3T
FEET F FEET R OTEW Q) (1x8=8)

frdl WA $ s df:

(F) BFEA F MR W Ffufisx 5 afTmm fasvaet o
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(M) FFET & @I | YFW

(W) FFET F T-Fel W www e (3+3=6)

frefafes mEmwt § ¥ awEn = sk

(F) W IR AR @ weE F G g ouew § ww
TEE 4 e T A A TR w1 e 'R W
e € o ¥ 39 TR oW 4 wEd e

(@) 91 790 9 1 3R @ 7 2= W, e w9
Jfaer w3 S I WY W W e E- g
FE w1 AR AR e wfre w1 SR e wfew

(m fow fivd ® FAER T @ v T @ I
FOA WG T wfeT S A woweve s W
TEF WU, AR R W 9w = ow R
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7.
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W WY w ¥ om oew §wR dew,
foe @ foem ame ®, el w o o and-and
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B TRF ¥ SR R w ® 9RE W g )

e

TN’ RF W T fafaw (1x8=8)

frdl @ wf % sm .
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(W) T T &1 i | yee gl
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() AEHR & A o F e W 9= i
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708/1,000/KD/562 3 [P.T.O.



0 RSur f Py R A Fo Roll No. oo Total Pages : 8

(8) st 710
(o) S GSED-19
(2) Hfenmort »i3 HT' Jgr PUNJABI (E)
(A) 8 & Y5 Uiz =& Time : Three Hours] [Maximum Marks : 80
10. faEg &t &H Fg= M? 32 : A9 yAs Aget 761
(8) wA-Af (nf) -t . 35 ot gt fed faR g o<t @ s w3
gua fonet §us fado fed .
(Z) viftpmie (R) &3] 10 @) 5 @ fitu
() 37, gfgsws fRw
() g<T FHEI| 5

2. I3 fey afe-2font fod' famr & & ydar mfos
fenrfonr &9 -
(8) I8t It mew A,
it 2R iy T,
nidt SR 39t I,
Aee AT O famim

710/2600/KD/979 8 710/2600/KD/979 [E.T. O.



() g 7T foast = uat 3. oo fw o Ut o few o AEw 37 HE
it gt Ignrt = Ut

few fea fagu fod| 5

93 NR & &d IF, IB IS I

g frg 4 ufeme wlt Fes 2 feR-eRg Qus B

g9 Torer, U9 Qe

fre 3 9, Uz wrg & 7

e s, 58 e uRzg Wit aeE @ @yt uss o ofse
(v) feg &gt AUt mas T, feggs 3| 10

feg ufgg® 3 2@ T,

feg rfgzr, Afgnmag dnf, 5. nuE R @ feud-anfiaess § fex foat fsg, fam

feg @A »3 useR dnff| feg Faarg ¥F ware a8 femr-fssent € S8t €3
(R) 97 €RTr g9 g2 Afent &3, | wigHl/fodt @ &% &% dardt v &t =93° a9 €t

HAgSE nr & FETenT 3 SaHt S T2

A3 yge 3 fg e fam 3717 .

U 3TG JGES § ASHTEM T i

HI A9 mfemr &3 ¥Ry & AN, s € fyius & »m@ w9 & nefex &3

89 7 8 2 T 3 wfoafenr a9 fanrs g9 38 dR-yoret w3 fed-uss fod

+85=
5+5=10 10

710/2600/KD/979 2 710/2600/KD/979 3 - [P.T. O.



6. 35 fod yoefont fed' foR e weE SR & =t

feg o3 :

L 8% fAo ggs
3. nfd@ 3% ¥ T
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1. Allocation

3. Arrears

5. Cash book

7. Compliance

9. Cost price

11. Document

13, Enclosure

15. Dearness allowance
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2.
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8.

10.

12.

14.

Applicant

Basic pay

Circular

Confidential

Daily wages

Estimate

Eligible
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(iv) Hfa-wem-agei (2x4=8)
(@ el @ e wwr ¥ w9 fafE:
) T
i) F-9<
(i) TH-E
(iv) TH-T<| (2x4=8)
5. (F)fFe ww =1 wfy Hf:
fim + ofeE:, S| - W
g + 3%3:, ;K + A, FW - W@
w+ﬂmw".m4mw+mﬂ",u_d"+@_ 4
(@) 5 o) w1 fa=g s
%%ﬂwﬂ.ﬂﬂ% ¥, TEF:, TR,

T, 4
(M N o fafE, | 1w F 7w (2x4=8)

712/2,100/KD/755 3
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GSE/D-19 722
ECONOMICS
(Micro Economics-T)

pc - Three Hours] ﬂv.deEcB Marks : 80

pee : Question No. 1 and 2 are compulsory. In all do five
questions, selecting one question each from any three
units.

e ﬁjx;mwm@iw_mmm&ﬂﬂﬁﬂﬁe%
4 v P A o o g ™ v T .
e e i

, 1. Case Study

‘ Following are the different possibilities of production of
wheat and rice :

Good | A | B C D| E

Wheat | 10 | 9 7 410

Rice | O 1 2 3 4

(a1 On this basis, draw production possibility curve and
also tell the meaning of it.

by Define marginal opportunity cost and show it in
diagram.

(c) Mention the factors which will cause an upward shift
in the production possibility curve.

(d) How canthe central problems of the economy be solved

‘ with the help of 2 production possibility. (4x4=16)
222/5,000/KD/757 P.T.O.

6/12



¥ =wdh
R e — -
ﬂum. A IB ICTD JE
im, 10 |9 7 4 0
mﬂvmﬂgﬁﬂﬂgﬂﬂﬁﬂ
Aﬂvﬂdaﬁﬁﬂﬂm T .
framy i TR oy

2. M Choose the coirect answer :
W IW o,
() In case of §
ubstitut

do € €s, the cross w_mm:o:.,\ of
(a) Negative
(b)" Zero
(c) Positive ol

(d) Equal to one. -

qwu_\m.oocwﬁc\du |

2

(i1)

(ii1)

SRS SR ® AWM W o de e @
(F) |UIHF

(F) 3

(M) JEF

(9) =R F TN
Price mechanism is the feature of
{a) Socialism

(b) Mixed economy
(¢) Capitalism

(d) None of these.
Fraa w4 faw @
(F) QR .

(@) fafsa sreferemen

(M) gSER
(%) T ¥ B T

When demand curve is parallel to x-axis, then
price elasticity of demand is

(a) Unity

b)) Zero

(c) Greater than unity
(d) Infinity.

722/5,000/KD/757 3 [P.T.O.



/

\Il\ll

Qﬂ.ﬁgmﬂxnmﬂmﬂ% .
ﬂﬂﬂﬂ&m%ﬂmﬂaaﬂw.ﬁﬂﬂ

(%) Tord
(@) Y=

(M ¢ ¥ st
() T (o0))

(iv) All factors are variable in
(@) Short period
(b) Long period
{c) Very short period
(d) All of these.

TRt oA oo B #
(¥F) 9@ o
(@) Sdwr 4
(M A7 s o
(%) = asf H
(v) Slope of isoquant is

(a) m.mm

)}
(c)

(d)
AMX“—"MV

N_It-‘ %‘? aIa P

722/5,000/KD/757 .

4

ﬂaﬂﬁmﬁﬁ%@gw

® 5
@ T
™ I
® £

() Match the following :
1. Alfred Marshall
7. Mixed economy
3.  Unchanged total
expenditure
4. More production
Jeads to less income

1. Unitary elastic
2. Paradox of Poverty
3. Principles of
Economics
4. Family of Isoquant
curves
5. Coexistence of private

5. Isoquant map
and public sector

(5%1=5)
fem ®L .
| oERE WNE | TEE A=
5. fufs@ FEATE 2. frd=an +1 Faieme ™
3, wafEds F9 &< 3. Principles of ‘
Economics
792/$,000/KD/757 5 [P.T.O.



4, IfuF SEEA € 4. R SHET G W
wH @ B qfar
5. ©H IAET AR 5. 9@ g feh et

1 &l S

(IIT) Define the following :

(a) Define Ridge lines or Income Elasticity of
Demand.

(b) How price elasticity of demand is calculated by
point method.

(¢} What is break even point ? (3x2=6)

= ¥ w1 g womu

(F) J|Y @=W (Ridge Lines) #1 aftsmwr & =1 #im
F W @ # ufym €

(@) fF9 w¥r fag OfF (Point Method) & &M &t
FHA @S H A @@L

(M) W9 o fafa fRR wER &2

UNIT-I (S&id-I)

Explain the law of demand. What factors affect demand ?
T & R W oavh W w S nhe w6 ae T
FR-¥ ¥

Is Economics a science or an art ? Discuss, ‘ 16

FiTer R & W wE s SR

722/5,008/KD/757 6

\J\|’

UNIT-1I ( $&me-1I1 )

5. Define consumer' mﬁﬁ_:m... How is it measured ? 16
Iuysiigm A9 w ofeaw = oT® PR mw W 27

6. What is indifference curve ? Discuss its properties. 16
Tewm 9% R wEd ¥ e fadwed samw

UNIT-III ( 3%TE-101 )

7. Explain the law of variable proportion. 16
IUEA ® Ui Sum W frw w oaviw st

8. What is meant by elasticity of supply ? Explain the degrees
of the elasticity of supply. 16
o de & = ofmm #2 ot S w Ao wif

UNIT-1V (3&E-1V )

9. Explain short run cost curves as per traditional theory of
cost. 16
T wr e o sgeR seuwei arel
guq FHifew)

10. Explain the relationship among total revenue, average
revenue and marginal revenue. 16
w9, ¥\ iR W ST (Revenue) F s wEwf
| FAEE

722/5,000/KD/757 7
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GSE/D-19 728
HEALTH AND PHYSICAL EDUCATION
(Theory)
Time : Three Hours] {(Maximum Marks : 60

Note : Attempt one question each from Unit L II, III and IV.

Unit V is compulsory for all.

M wE L, IV IEE ¥ u@w-um W SR

eV oW ® fau sfEd
UNIT-I ( ¥&Té-1 )

Define physical education. Write down the objectives and
scope of physical education. 10

i foan # oot w4 TR el st o
g5 F T § TuEm)

What do you mean by physical education ? Discuss the
misconception prevailing in the society regarding physical

education. 10

wifE e | o W owed 0 uow o sow
T fren ¥ wafy wem wmonet w S w2

UNIT-1I (3&1é-11 )

Define health according to World Health Organisation.
Explain the importance of health for an individual, 10

Wﬁﬁmﬁgﬂmﬁzﬂﬁaﬂgﬂ_
TOF iR % o wea @ me w yew sE

728/5,100/KD/1038 [P.T.O.
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Explain the term hygiene. How a person can keep the
hygiene of various parts of the body ? 10

A TR H e w1 = T ST YRR #
i M = w=od @A ® dlF w1 guw Fw:i

UNIT-III ( 33-111 )

Define yoga according to Maharishi Patanjali. Explain the
importance of yoga in modern society. 10

e wiwfa g & R A w o el smyPre
S H AN # HETS 9

What do you mean by Pranayama ? Explain techniques,
precautions and benefits of any two of the Pranayamas. 10

T R wEe €2 fRRT 2 womaE ® v # fafy,
waufgl @ W % R o fywRgw g

UNIT-1IV ( 3&E-IV)

What do you mean by Anatomy and Physiology ? Explain
its importance in the field of Physical Education. 10

TR N W YR R R e s € wifs
ien # &% o ™R FEE W TEFN TR

Draw the diagram of a cell. Explain the structure of a human
cell. 10

Fif F1 97 9T W gFEE SR F GEm F aR
H fngds el

728/5,100/KD/1038 2

UNIT-V (¥&E-V )

(a) What are the aims of Physical education ?

(b) Describe Adventurous sports.

(¢) What is neuro-muscular co-ordination ?

(d) Physical factors effecting personal hygiene,

(e) Meaning of yoga.

(f) Explain system in human body.

{g) Smallest unit of human body.

{(h) What are the three steps of Pranayama ?

(i) Explain personal hygiene.

() What is emotional development ? (2x10=20)
(F) TfF foa & w0 wem ¥

(@) aEfaw @ ¥ 8

(M TE-WiE qenia w82

(%) AfFm ==2a F AT FE T S e
(F) M v= F e

(F) A9 YRR H Tem w2

(T) 9a TR 1 999 29 = w0

(F) oA A I $H-Y 82

(%) =ufFrm @=sa #1 e Hi

(3) wETEE faaw R we

728/5,100/KD/1038 3
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GSE/D-19 730
MUSIC VOCAL -
MM-40
{Theory) .
Paper-I
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question
from each unit. Each question carries 8 marks.

AT : YT FE W FW W FW T I H T FW I,
Fad Ui T F T AT TEE WA F o1
i

UNIT-] (Z&TE-1)

1. Write Notation of Vilambit Khyaal of Raag Alhiya Bilaval.
T s faomem ®1 faefen e w1 Aty e

2. Discuss about raag Bhupali with notation of Drut Bandish.
T At & R F 99 W@ W IR = F ey
fafam)

3. Give the introduction of Raag Alhiya Bilaval in detail.
e fooee w1 fmr 4 Wfem 2

730/1,400/KD/347 [P.T.O.
20/11



UNIT-H ( ZeE-11) 8. Discuss in detail about the contribution of Pt. Vishnu
Digamber Paluskar in Indian Music.

g #ig # 4 faw) fmem wes % armeE

4.  Write the definition of following :

(a) Thaat. A i
fomm @ == w{
(b} Raag.
(¢c) Taali. 9. Write Ekgun of Char Taal and Teen Taal with detailed
(d) Khaali Introduction.
frorfafean =1 R fAfET ; TR oA R A oA W ot [ fee g frew R
qft=g _
(F) 9| Sifs
(@) Tl 10. Give the definition of following :
() wrE (a) Aavartan.
(") @re (b) Sangeet.
(c) Shruti.

5. Write in detail about Saptak.

T B ¥ frm @ (@ Swar.
T S

6. Discuss in detail about the history of Indian Music from

Vedic period to 12th century in reference to Vocal Music. (%) e |
MR g faviw wed ¥ AR wm | @ 12 o (@) T
T T ® A # sfrew W fawm @ == #{)
(M
UNIT-II (3%tE-111 ) (1) =

7. Explain in detail about the difference between Shruti and
Swar.

gfd o =R A W e ) fawm ¥ wEmy

730/1,400/KD/347 2 730/1,400/KD/347 3
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GSE/D-19 731

MUSIC INSTRUMENTAL (SITAR)
Paper-I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one
question from each section. All questions carry equal
marks.

AT WE EE A Y FH Y FH G WA F G T
W F/F G T F W A o v o® o
A #

SECTION-I (@Us-1)

1.  Write down the notation of any Razakhani gat of your
syllabus with fwo toras. 8

I TEEHA 4§ R uF wrart @ s wEty f
el o fafEw

2. Write the detailed description of Rag Alhaiya Bilawal. 8

T oeda faemEe’ w1 wegdl wRem fafaw

3. Write the notation of any Maseet khani gat of your syllabus
with rwo toras. 8

I TEEA W ° fFR w wHmart W ow wfafy
qr dg wfes fafaw

731/750/KD/152 [P.T.O.
20/11



Identify the following Ragas and give their short description.
(a) va7I F|Ta

() I AT YY AT (4+4=8)
= wit & T w I ey uitmw dfem
(Fyvany fFH1a

(@) IINyLngyg i

SECTION-II ( U8~ )

Write short notes on any two of the following :
(a) Sangeet

(b) Swar

(c) Rag

(d) Saptak.

frafafes & & = @Y w feuoft fafga:
(%) |ig

(|) =R

(M w

() 9951

(4+4=8)

Explain the historical development of Indian music during
Vedic Period. 8

dfw w1 H T o @ thefes faew w1 smen
Ediid

Discuss in detail about the structure of sitar and its
techniques. 8

foar #1 IE2 TW IR IT9H H TEAE W EFER
iR W= wife

731/750/KD/152 2

10.

SECTION-III ( @vs-III )

Descnibe the relationship between folk and classical music.
. 8
o T T RS S # SE e w1 famr

TEE U Fie

Write down the contribution of Ustad Vilayat Khan in the
field of music. 8

e % 843 o I@r foorgg @ w1 arEm fafag

Write the following Tolas in Ekgun and Dugun laykaries :
(a} Ektaal.

(b} Teentaal. (4+4=8)
frafafan @= #1 W Sk T ST | fafeu:
(F) TF Tq

(| = T

731/750/KD/152 3



Roll No. ...coovveiennnn, Total Pages : 3

GSE/D-19 742

OFFICE MANAGEMENT

Time : Three Hours] fMaximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

AT ; FE Ui g F) oo w ® oiw @R §

1. What do you mean by ‘office management’ ? What are the
functions of office management ? 16

‘AT FE' Y AW ® TEn § walem vy %
FE F GO FIfSQ

2. “An office is to a business what the main spring is to a
watch.” Examine this statement and explain the significance
of modern office, 16

‘T AR 4 FEeE # A W & W u w9 §

fom #1" W Fo W wrEnm FNU W P
FETE $ UET F TSN HAU

3. Discuss the merits and demerits of decentralisation of office

services. 16
FaeE A @ FESEE % @Y 19 eNal W
WISl ST

742/150/KD/155 [P.T.O.
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Discuss the various methdos of departmentation of office
activities. 16

Frea w fafi= =t & farfso #t fahei 55 ==t
Fifwal

What qualities should a successful office manager possess ?
16

TF TFa ®Aed ¥o=F o &5 i w1 g oy
#?

Describe the factors affecting the choice of office
accommodation. 16

FHOE WA F YIE F IIET A G T FT T
Hifsa

Describe office layout. What are the benefits of good office
layout ? Briefly describe the steps in office layout. 16

FHET T = wmEm S TF o= Faied
oo = oY TORU wEen T ® 9T s giwd
= it

Discuss the impact of noise in relation to clerical work and
the ways in which it can be reduced. 16

FEACET S W AR F JIE T TUF FH FE F
IuEl w1 "=t Hif

742/150/KD/155 2

c.

What do you mean by the term ‘office communication’ ?
Discuss various communication services used in a modern
office. 16

FEET TRYEEA TR ¥ A I GHEE €7 TE
Fofem § yam g awt fafv= wur gaet w s
EaiEd

10. Write a detailed note on correspondence through internet.

16
T TN TR W T fawga foomht fefam)

742/150/KD/155 3



SECTION-1V

8. (a) Solve the equation x> — 3xZ + 12x + 16 = 0 by Cardon'’s
method. 3
(b) Solve the equation 40x* + 423 +3x2 - 1=0. 2
9. (a) Solve the equation x* - 4x® — dx2 — 24x + 15 = 0 by
Ferrari's method. 3
(b) Show that for all value of ¢, the equation
x>+ 5x2 + 3x + ¢ = 0 has at least two imaginary roots.
2

751/2,400/KD/1039 4

Roll NO. v,

Time : Three Hours]

Note :

1. (a

(b)

{c)

(d)

(e}

751/2,400/KD/1039

Total Pages : 4

GSE/D-19 751

ALGEBRA
Paper : BM-111

[Maximum Marks : 27

Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each section.

Compulsory Question

If A is non-singular matrix, then prove that det
(A™1) = (det AYL. 1

Give definition of row echelon matrix with example.
1

Give definition of orthogonal matrix and unitary matrix
with examples. l

Find an equation whose roots are the reciprocals of the
roots of the equation 3x° - x> + 2x - 3 = Q. 1

Prove that every subset of a linearly independent subset
is linearly independent. 1

SECTION-I

Prove that every Hermitian matrix A can be expressed
as A = B + iC, where B is real and symmetric and C is
real and skew-symmetric. 3

[P.T.O.
20/11



L2 8. (a) Diagnolize the quadratic form
(by Express A=|2 5 -2| as the product of elementary X7+ 27 = 727 - Axy + Bxz.
b 2 1 Also find rank. index, signature and equations of
. transformation. 3
matrices. 2
3. (a) Prove that every square matrix satisfies its characteristic () Determine the definiteness of the quadratic form
equation. 3 —x2 = 297 =272 + 2xy + 2y
(b) Obtain the minimal equation of the matrix ) -
using Sylvester's criterion. 2V4
23 4
A={0 2 -1, and show that it is non-derogatory. SECTION-III
00 1
6. (a) Find the remainder in the division of x*> + 3px + g by
22 (x — a)? and deduce that x° + 3px + ¢ = 0 has two equal
roots if ¢* + 4p> = 0. 3
SECTION-II
(b) Solve the equation x* + 15x3 + 70x2 + 120x + 64 = 0,
4. (a) Solve . .
whose roots are given to be in G.P. 22
x+y+2z+w=35
2x+3v-z-2w=2 7. (a) Find the roots of the equation
4x+5y+3z=7. 3 15x* - 83— 142 + 8x -1 =0
{b) Show that the matrix given that the roots are in H.P. 3
0 2m n (b) If o, B, v are the roots of the equation x> — 6x% + 11x +
A=l m -n| ~u|_._ §n|H., xu!_l s k = 0, find an equation whose roots are o - N._w +7.B-
I —m n V2 J6 J3 2y + o, ¥ - 20 + B. Also find the value of k if roots of
given equation are in A.P. 2V
orthogonal. 22
751/2,400/KD/1039 2 751/2,400/KD/1039 3 [P.T.O.
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GSE/D-19 753
MATHEMATICS
(Solid Geometry)
Paper : BM-113
Time : Three Hours) [Maximum Marks : 27

Note : Attempt five questions in all, selecting one question from

each Section. Question No. 1 is compulsory.

Compulsory Question
1. (a) Discuss the nature of conic x2 — 2xy + 2y% —4x — 6y +
3=0. 2
(b) Define conjugate diameters. 1
(c) Under what condition cone ax? + by? + cz% + 2fyz +
2gzx + 2hxy = 0 have three mutually perpendicular
generators. 2
(d) Show that the two spheres
2+ + 24 6y+2:48=0
x% +y%2 + 22 + 6x + 8y + 4z + 20 = 0 are orthogonal.
2
SECTION-I
2. (a) Find the length of the axes, the eccentricity and the
equations of the axes of the conic
502 +6xy+ 57 +4x+ 12y -4 =0. W4
(b) Trace the conic x2 +xy +y?> + x -4y +1=0. 2%
753/2,400/KD/160 [P.T.O.

16/12



(b)

4. (a)

(b)

(b)

(b)

To find the polar equation of director circle. 2%

Prove that the conic 1% + 2y° = 1 = 0 and 3x* + 8xy +
10y2 — 4x ~ 8y + 1 = 0, have double contact with each
other. 24

SECTION-II

Obtain the equation of the sphere, having the circle
Hw+ww+mu+ 10y -47-8=0,x+y+z=3 as the
great circle. 214

If through a given point P, is drawn any chord Q, R to
sphere 2 + y* + 72 + 2ux + 2vy + 2wz + d = 0. Then
prove that PQ. PR is a constant. pA%)

To find the condition that F(x, y, z) = ax? + by + cz* +
2fyz + 2gzx + 2hxy + 2ux + 2vy + 2wz + d = 0 may
represents a cone. 2

Find the equation of the enveloping cylinder of the
sphere x? + y2 + 72 = 25 having its generator parallel to

the ling —===—, 214

SECTION-1II

To prove that six normals can be drawn from a point

2 2 2
. . X z
(a, b, c) to the ellipsoid — + RN —=1

21n
o By

To find the equation of the polar plane of (a, b, ¢} w.r.t.

R
the ellipsoid N +st+—

mu 7 =1

. 214

h{

753/2,400/KD/160 2

7. (a) Find the equation of the enveloping cone (tangent cone)

(b)

(a)

(b)

from the point (x;, y;, z,) to the conicoid ax? + by +

cz? = 1. 214

Find the centre of conic given 3 the equations 2x — 2y

—5z2+5=0,3x2+ 2% - 1572 = 4. 2
SECTION-1V

Reduce the following equation to the standard form

4x2 + 9y? + 3672 — 36yz + 24zx — 12xy — 10x + 15y -

30 +6=0. 2Y;

Find the equations to the generating lines of the
2oyt

hyperboloid — + ~—~-=-=1 which pass through the
4 9 16

point (2, -1, 4/3). 2%

Prove that the surface whose equation is 16x% + 4y% + 472 +
dyz — 8zx + 8xy + 4x + 4y — 16z — 24 = 0 is an elliptic
paraboloid. Find the co-ordinates of its vertex and the
equation to its axis. 5

753/2,400/KD/160 3



9. (a) Solve x* + 2x3 — 7x* — 8x + 12 = 0 by Ferrari's method.

(b) Show that the equation x7 + x* + 8x + & = 0 has at least
four imaginary roots for all values of k.

782/8,000/KD/1044

4

4

Roll No. ....... eererne

Time : Three Hours]

Total Pages : 4

GSE/D-19 782

ALGEBRA
Paper : BM-III_

[Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is

compulsory. Select one question from each section.

Compulsory Question

1. (a) Prove that every orthogonal matrix is non-singular.
14
(b) Prove that the set of vectors (1, 2, 0, (0, 3, 1) and
(-1, 0, 1} is linearly independent. 1l
(c) Prove that the quadratic form Quam +Hw +aw 18
positive definite. 2
, (d) Show that every identity matrix of order n = 2 is
RS derogatory. 1Y
(e) If . P, 7 are roots of equation x* + pxZ + gx + r =0

1
then find —. 144
2 :
SECTION-1

2. (a) Prove that every square matrix A can be expressed in
one and only one way as P + iQ, where P and Q are
Hermitian matrices. 4
782/8,000/KD/1044 [P.T.O.

23711



(b)

For the matrix A, find non-singular matrices P and Q

1 1 1
such that PAQ is in normal form A=|1 -1 =1|;
31 1
hence find the rank of A. 4
3. (a) Prove that the characteristic roots of a real symmetric
matrix are all real. 4
26 1
(b) Prove that A=|0 1 =6} satisfies its characteristic
34 2
equation. Also find its inverse, if it exists. 4
SECTION-II
4. (a) Check whether the following system of equations is
consistent or not. Solve if it is consistent.
4x + 3y + 2z =-T7,;
x+y-4z=-1;
x+2y+z=1. 4
(b) Prove that the absolute value of each characteristic root
of unitary matrix is unity. 4
5. (a) For what value of A, the equations
x+y+z=1
x+2y+4z=A
x + 4y + 10z = AZ
have a solution and solve them completely in each case.
4
782/8,000/KD/1044 2

782/8,000/KD/1044 3

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Diagonalize the quadratic form
.«m + NHW - qhw - 4xx, + 8x%;.

Also, find the rank, index, signature and equations of
transformation. 4

SECTION-III

Find the remainder in the division of x* + 3px + ¢ by
(x - &N, and deduce that it has two equal roots if
g* +4p® =0, 4

If b and c are real and 2 — V=3 is a root of the equation

x2 + x% 4 bx + ¢ = 0, what are the other roots and what
is the value of ¢ ? 4

Find the condition that the sum of two roots of the
equation x* + px? + gx® + rx + s = 0 is equal to zero.
4

If o, B, ¥ are the roots of the cubic x* + 3x + 2 = 0,
find the equation whose roots are (o — §) (@ - P,
B -9 @ -, (y- o ( y- B). Hence show that the
given cubic has two imaginary roots. 4

SECTION-1V

Solve the equation 28x* — 90x + 1 = 0 by Cardan's
method. 4

Apply Descarte's method to solve the equation
=32 - 420 - 40 = 0. 4

[P.T.O.



(b) Show that the volume of the solid formed by the Roll No. .occoeeenn, Total Pages : 4
revolution of the curve r = ¢ + b cos 8 (¢ > b) about

GSE/D-19 783
- .. 4
the initial line is = 7q (¢® + b%). 4
3 7l ) MATHEMATICS
{Calculus)
Paper : BM-112
Time : Three Hours] [Maximum Marks : 40
Note : Attempt five questions in all, selecting one question from
each Section. Question No. 1 is compulsory.
Compulsory Question
. (a) Evaluate lim JE l
=0 x° + 2x
(b) Derive reduction formula for .?m:= xdx. 2
, . P
(c) Find the area of the ellipse — + P =1. 2
a
(d) Find the radius of curvature of the curve y = ¢* at the
point where it crosses the y axis. 2
(e) Define point of inflexion. 1
783/8,000/KD/162 4 783/8,000/KD/162 [P.T.O.
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(b)

(b)

(b)

(b)

783/8.000/KD/162

SECTION-I

Using € - 8 definition, prove that cos®x is a continuous
function. 4

If ¥ = sin (m sin~Lx), prove that
B (L=xPy,~xy, +miy=0
() (1=x2)y,,, - Qn+ Day, + (m? - nd)y, = 0. 4

Expand cos x in powers of x and hence find cos 18°
upto four decimal places. 4

If fix) = x* — 2x + 5 find value of £2.001) with the help
of Taylor's theorem. Find the change in the value of
Sfix) from f(2.00) to £2.001). 4

SECTION-II

Find all the asymptotes of the curve (x + y)?(x + y + 2

=

-x-9+z=0.

Find the asymptotes of the curve r cos 8 = a sin® 8. 4

Find the radius of curvature for the curve r* =
a’ cos nd. 4

Show that the curve x> ~ 2x3y — 4x2y + 8y2 = 0 has a

point of oscul inflexion at the origin. 4

2

(b

7. (a)

(b)

(b)

9. (a)

783/8,000.KD/162

SECTION-III

ni2 i
Evaluate ._. sin” xdx where n is positive even and odd
0

integer. 4
72

Prove that ‘_’ sin®® x dx =
0

2n! T
[2°n1)? 2

Find the length of the arc x% + y2 = 2qx = 0 in the first
quadrant. 4

Find the intrinsic equation of the cycloid x = a(f + sin 1),
v =a(l - cos t) and prove 52 + p? = 164 4

SECTION-1IV

Find the area common to the circle x? + y2 = 4 and the
ellipse x* + 4y% = 9, 4

Show that the area of the region included between the
cardioids r = a(l + cos 8) and r = a(l - cos 0) is

2
aﬂaaumg. 4

The circle x* + ¥2 = a® is revolved about the x axis.
Find the volume of the sphere so formed. 4

(P8

[P.T.O.



Roll No. ..o, . Total Pages : 3

GSE/D-19 784
MATHEMATICS
(Solid Geometry)
Paper : BM-113
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each section. Quetion No. 1s is compulsory.

Compulsory Question
. . . x+1l y-=-2
1. (a) Find the equation of the polar line INI = 3 =z+3
w.r.t. the sphere x2 + y2 + 22 = 1. 2

(b) Find the point of intersection in which the line
x+2 y+9 z-8

4 3 -5

49. 2

(c¢) Find the equation of the tangent to the conic x2 - Iy +
y2 4 10x - 10y + 21 = 0 at (0, 1). 2

meets the sphere x2 + y? + 72 =

(d) Find the nature of the conic 5x% + 6xy + 5y% + 4x + 12y
—4=0, 2

SECTION-I

2. Find the center, length and equations of axes, eccentricity,
foci of the conic 8x% — 4xy + 5)7 — 16x — 14y + 17 = 0. Also
trace this conic.

784/8,000/KD/163 [P.T.O.
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3. (a) Show that the equation 9x% + 24xy + 16y? - 2x + 14y +
1 = 0 represents a parabola. Also find its focus, vertex,
axis and latus rectun. 4
(b) Find the equation of the director circle of the conic
14x2 — dxy + 11y? - 44x - 58y + 71 = 0. 4
SECTION-II
4. (a) Find the equation of the sphere through the circle
X+ + 2 +2x+3y+6=0;x-2y+4z-9=0and
passing through the center of the sphere
X4y + 2 -2x+4dy-62+5=0. 4
(b) Show that 2x — y — 2z = 4 is a tangent plane to the
sphere 24y + 224+ 2x-6y+1=0. Also find the
point of contact.
5. (a) Find the equation of the right circular cone whose vertex
is (0, 0, 0) and which passes through. (1, 1, 2) and has
X y Z
LA A 4
axis o ="7=3
(b) Find the equation of the right circular cylinder of radius
- -2 z=3
2 whose axis is the line = L2 = . 4
2 1 2
SECTION-III
6. (a) To prove that six normals can be drawn from a point
2 2 2
. . v Z
(a. b, c) to the ellipsoid — +-= +=—=1. 4
o By
784/8.000/KD/163 2

8.

(b) Find the center of the conic given by the equations
2x-2y-5z+5=0and 3x2 + 232 - 1522 =4. 4

(a) Find equation of the poélar of the line

x-1_ y~-2 z-3
2 3 4
= 4 in the symmetrical form.

w.r.t. the conicoid x? - 2y2 + 372

(b) Find equation of the enveloping cylinder of the conicoid
2x% + y* + 372 = | whose generators are parallel to the
x_y

line —===

= 4
I 2

z
5
SECTION-1V

Show that the surface whose equation is 16x% + 4y? + 472 +
4yz — 8zx + 8xy + 4x + 4y — 16z — 24 = 0 is an elliptic
paraboloid. Find the co-ordinates of its vertex and the
equation of its axis. 8

(a) Show that the plane 8x — 6y — z = 5 touches the
paraboloid 3x% — 2y = 6z and find the point of contact.
4

(b) Find the equations of generating lines of the hyperboloid
vz + 2zx + 3xy + 6 = 0 which passes through the point
A|~¢ o_.. uv. L.

784/8.000/KD/163 3



Roll No. .....cccoeinee. Total Pages : 3

GSE/D-19 789

PHYSICS
Classical Mechanics and Theory of Relativity
Paper-I

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions. Question No. 1 is compulsory.
Attempt four more questions selecting one question from
each unit. The symbol have their usual meaning.

Compulsory Question
1. (a) What is a conservative force ? Give an example of a
conservative force. 2
(b) Define configuration space. What is its importance. 2

{c) What do you understand by inertial and non-inertial
frame of reference ? 2

(d) Whether mass of a particle is a constant quantity, if not
then explain how it varies, 2

UNIT-1

2. (a) State and prove law of conservation of energy of a
single particle. 6

(b) Explain in brief the importance of center of mass. 2

789/7,000/KD/1362 [P.T.O.
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What is angular momentum ? State and prove law of
conservation of angular momentum of a system of N
particles. 8

UNIT-II
(a) Define Hamilton's principle and derive Lagrange's
equation from Hamilton's Principle. 6
(b) Differentiate between degrees of freedom and

generalised coordinates with examples. 2

What is an Atwood machine ? Derive the expression for its
acceleration using lagrangian formalism. What will be the
value of expression, when the ratio of its masses become
2:1 8

UNIT-I11

(a) What are Galilean transformations ? Prove that law of
conservation of Kinetic energy in invariant under these
transformations. 6

(b) What is a coriolis force ? Write its two consequences.
2

Describe Michelson and Morley Experiment. Give a brief
explanation of the result. 8

UNIT-1V

(a) What are Lorentz-transformations ? Explain Length
contraction using these transformations. 6

(b) At what speed a clock should be travelling so that it
may appears to loose 2 minutes in 1 hour. 2

789/7,000/KD/1362 - 2

e.

What are the postulates of special theory of relativity ? Derive
the expression for the relativistic mass of a particle.

789/7,000/KD/1362 3



(ii) capacitive reactance {X¢) of capacitor and (iii)
impedance (Z) of the circuit with frequency. Find
resonant frequency of this circuit. 5

(b} What is meaning of sharpness of a series resonant
circuit ? How is it related with bandwidth of the circuit ?
3

790/7,000/KD/164 4

Roll No. .51 % .. Total Pages : 4

GSE/D-19 790

PHYSICS
(Electricity, Magnetism and Electromagnetic Theory)
Paper-I1

Time : Three Hours) [Maximum Marks : 40

Note : (i) Question No. 1 is compulsory.

(i) Attempt four more questions, selecting one question
from each unit,

(iil) Attempt all parts of Question No. I at one place only.

(iv) Use of scientific (non-programmable) calculator is
allowed.

Compulsory Question

1. (a) Distinguish between solenoidal and irrotational vector
fields. 2

(b) What is effect of temperature on magnetic susceptibility
of a diamagnetic material ? 2

(¢} How is displacement current different from conduction
current ? 2

(d) The r.m.s. value of alternating voltage in mains is
220 V. Calculate its peak value. 2

790/7,000/KD/164 [P.T.O.
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UNIT-1

2. (a) Show that divergence of curl of a vector is always zero.

3

(b) State and prove Gauss divergence theorem. How is it

different from Stoke's theorem ? 5

3. (a) Discuss the physical significance of gradient of a scalar

function. 3

(b) Derive relation for curl of a vector in Cartesion co-

ordinates. 5

UNIT-II

4. (a) Prove that for magnetic induction B: (i) V.B=0 and

(i) VxB=y,J where letters have their usual

meanings. 4

(b) Discuss Languins electron theory for diamagnetic

materials and derive relation for magnetic susceptibility

of such a material. 4

5. (a) Show that energy loss per unit volume per cycle of

magnetization is equal to area of B-H curve of

ferromagnetic material. 4

(b) Why steel is a better choice than soft iron for making

permanent magnets ? 2

(c) The magnetic susceptibility x,, of Al is 2.3 x 107,

Calculate its absolute and relative permeability. 2
790/7,000/KD/164 2

6. (a)

(b)

(b)

8 (a)

(b)

UNIT-11I

Write four Maxwell's equations for electromagnetic
fields and discuss the significafice of each equation. 4

What is magnetic scalar potential ? Derive relation for
it. 4
Derive boundary conditions for B and E at interface
between two media. 6

What are electromagnetic waves ? Write their general
properties. 3

UNIT-IV

Derive phase relation between alternating e.m.f. and
a.c. in a circuit containing an inductor and a resistance
in series using j-operator. What is impedance of this
circuit ? 5

An alternating e.m.f. of 20 V, 50 Hz is applied to a
circuit containing an inductance of 100 mH and a
resistance of 20 ohm connected in series. Find the a.c.
in the circuit. -3

Consider a circuit in which an inductor ‘L’, a capacitor
'C’ and a resistance ‘R’ are connected in series with a
source of alternating e.m.f. Discuss graphically the
variation of (i) inductive reactance (X;) of inductor,

790/7,000/KD/164 3 [P.T.O.
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Roll No. ... Total Pages : 3

GSE/D-19 791

CHEMISTRY -
(Inorganic Chemistry)
Paper : CH-101

Time : Three Hours) [Maximum Marks : 32

Note : Attempt five questions in all, selecting two questions from
each Section. Question No. 1 is compulsory.

Compulsory Question

1. (a) Why dipole moment of CCl, is zero ?

(b) How many degenerate orbitals are present in 3d
subshell ?

(c) Why size of anion is bigger than neutral atom ?

(d) Which lattice defect decreases density of lonic
crystal ?

(e) Define Polarisability.
(f) Why Li,CO, is unstable while Na,CO; is quite stable ?

(g) Name the type of hybridisation of central atom in

ZOwL fon. .
(h) When a subshell is labelled as ‘s’ the value of [ is .........
and m has value ......... (1x8)
791/5,600/KD/165 [P.T.O.
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SECTION-A

2. (a) Write electronic configuration of Na*! and Lanthanum

(z = 57). 2

(b) Draw shapes of 1s and 2s orbitals. What is basic

difference between their structures ? 2

(c) What are Normal and Orthogonal wave functions ? 2

3. (a) Calculate deBroglie wavelength of an electron having

kinetic energy 4.55 x 10725 J, Given h = 6.6 x 1034

Kgm?s ' m=9.1x1031Kg, 2

(b) Calculate effective nuclear charge experienced by 3d

electron of Iron (z = 26). 2

(c) Whatis significance of Uncertainty principle in our daily

life ? 2

4. (a) Discuss various factors on which Ionisation energy

depends. 2\

(b) Why first jonisation energy of Aluminium is lower than

magnesium ? 2

(c) Write general electronic configuration of d-Block and

f-Block elements, 1v2

S. (a) Discuss Mulliken scale of electronegativity and give its

disadvantages. 2

(b) Why ionisation energy of Na*! is more than that of

Neon ? 2

(¢} Why Electron affinity of Be and Mg are zero 7 1%
791/5,600/KD/165 2

(b)

{c)

(b)

(c)

8. (a)

(b}
()

(b)
(c)

SECTION-B

Discuss the shape of CIO;! on the basis of
hybridization. 2

o

Sketch the shapes of molecular orbitals obtained by
sidewise p-p overlapping of atomic orbitals. 2

Write various factors on which Bond energy depends.
2
Draw molecular orbital energy level diagram for Nitric

oxide (NO) molecule and calculate its bond order. 2

What are main postulates of molecular orbital theory ?
2

Dipole moment of H-X molecule is 1.92 D and bond
distance is 1.2 A. Calculate percentage of ionic character
of H-X. 2

Draw and discuss structure of Sodium chloride. 214
What are Frenkel defects ? 2

Why molten NaCl can conduct electricity ? 12

Write down the factors favouring the formation of ionic

bond. 2
Tabulate Radius ratio rule for ionic crystals. 2
Why silver halides are insoluble in water ? 2

791/5,600/KD/165 3



Roll No. .

Total Pages : 3

GSE/D-19 793

CHEMISTRY
(Physical Chemistry)
Paper-II
Time : Three Hours] [Maximum Marks : 32

Note : A

ttempt five questions in all. Question No. 1 is

compulsory. Select o questions from each section.

(b)

(c)

(d)

(b)

793/5,600

Compulsory Question

At what temperature the root mean square velocity of
chlorine gas will be equal to that of SO, at NTP? 2

Distinguish between an ideal gas and a real gas. Explain
graphically in terms of compressibility factor how real
gases show deviation from ideal behaviour. 3

Briefly explain the law of constancy of interfacial
angles. 2

What is Boyle's temperature ? 1

SECTION-A

The reduced volume and reduced temperature of a gas
are 10.2 and 0.7 respectively. What will be its pressure
if its critical pressure is 42 atmospheres ? 2,

Define the terms (i) Mean free path, (ii) Collision

number, and (iii) Collision frequency. Discuss the effect

of temperature and pressure on collision frequency.
3

/KD/1267 {P.T.O.
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3. (a)

(b)

(b)

(b

6. (a)

(b)

©)

Using Van der Waal's equation, derive the reduced
equation of state. Also state the “Law of corresponding
states”. 3

Calculate mean free path of oxygen molecules at 0°C
and one atmospheric pressure, given that the molecular
diameter of oxygen molecule is 2 x 1078 cm. 3

Explain diagrammatically how the molecular velocities
change with increase of temperature. 12

Define the terms (i) Critical temperature, (ii) Critical
pressure, and (iii) Critical volume. Derive expressions
for critical constants in terms of Van der Waal's
constants. 414

Describe Andrew's experiment on critical phenomenon.
34

Briefly explain the terms (i) Root mean square velocity,
(i) Average velocity, and (iii) Most probable velocity.
pA%)

SECTION-B

At what angle will X-rays of wavelength
1.542 x 10719 m undergo second order reflection by
planes separated by 3.5 x 10719 m ? 2

Define Surface tension. Describe any one method for
the determination of surface tension of a liquid. 3

Why cooling is caused by evaporation ? 1

793/5,600/KD/1267 2

(b)

(c)

(b)

9. (a)

(b)

©)

The value of ?Lwo for lactose is 55.4°. What is the

concentration in grams per litre of a solution of lactose
which gives a rotation of 7.24° in a 10 cm cell at 20°C
with sodium D light ? 2

Both NaCl and KCI have similar structures, yet their
X-ray diffraction patterns are remarkably different.
Why ? 2

What are the factors on which optical rotation depends ?
Derive an expression for specific rotation. 2

Describe Ostwald's method for determination of viscosity
of the liquid. 2

What are elements of symmetry in crystaliography ?
Describe each of them. 4

Calculate the molar refraction of acetic acid at
temperature at which its density is 1.046 cm™, The
experimentally observed value of respective index at
this temperature is 1.3715. 2

Derive Bragg's equation for the diffraction of X-rays
by crystals. 3

What is Dunstan's rule ? Explain with an example. 1

793/5,600/KD/1267 3



What are electrophiles ? Give their types with examples.

3
Explain the following with suitable examples :
(i) Substitution reactions.
(ii) Elimination reactions.
(iii) Addition reactions. 3
Give preparation of alkanes by :
(iy Kolbe's reaction.
(i) Carey House Reaction. 4
Give IUPAC names of the following :
CH, CH,
(i) OEMI.A_unIn_umliom — CH,
cr,  on
(iij) CH,—CH—CH— CH, 2
_GNF _ONF

Define and explain reactivity— selecting principle. 3

{b) Give two methods of preparation of cycloalkanes. 3

795/5,600/KD/166 ~

Roll No. ........ TP

Time : Three Hours]

) Total Pages : 4
GSE/D-19 795
CHEMISTRY
[Organic Chemistry (Théory)]
Paper : II1

[Maximum Marks : 32

Note : Attempt five questions in all, by selecting two questions
from each section. Question No. 1 is compulsory.

Compulsory Question

(a) Which is permanent effect :
(1) Inductive effect.
(i} Electromeric effect.

(b) Why all carbon-carbon bonds are equivalent in
benzene ?

(¢) Write the structure of optically active carboxylic acid
having molecular formula C;H,O.

(d) Out of eclipsed and staggered conformation of ethane,
which is more stable.

(e) Give the type of hybridisation and structure of alkyl
carbanion.

(f) Give an example of plane of symmetry.

795/5,600/KD/166 [P.T.O.
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(g)

Mark the secondary carbon atom in the following :

i
HC--CH—CH--CHQL.

(h) Pick up electrophiles from the following :

ROH, H;0%, BF,, CN- (1x8=8)
SECTION-A
2. (a) Define resonance. Write the properties of resonance
hybrid. 2
(b) What are localised and delocalised bonds ? Give
examples. 2
{c) What is inductive effect ? Discuss the types citing
suitable examples. 2
3. (a) Define electromeric effect. What is the main condition
for this effect to occur ? 2
(b) What are functional isomers ? Give two examples. 2
(c) What is hyperconjugation ? Why is it called no-bond
resonance ? 2
4. (2) Explain the cause of optical activity. 2
(b) What are the axial and equitorial bonds in cyclohexane?
2
795/5,600/KD/166 2

(¢) Assign E and Z configuration
HO, ,Br
(1) /TN
H.C I
I OH
T
H.C Br
5. (a) Differentiate between configuration and conformation.
2
(b) What are meso compounds ? Give examples. Why are
they optically inactive ? 2
(¢c) Assign R and S configuration,
Br
(i H,C H
NH,
H
(i) H,C CHO 2
Br
SECTION-B
6. (a) What are free radicals ? Explain the order of stability
of free radicals. 3
(b) What are carbenes ? Give their types and draw their
structures, 3
795/5.600/KD/166 3 [P.T.O.
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GSE/D-19 797

ENGLISH

Time : Three Hours] [Maximum Marks : 40

Note : All the questions are compulsory.

1.

Read the passage and answer the questions that follow :
An old mad, blind despised, and dying king,-

Princes, the dregs of their dull race, who flow

Through public scom, -mud from muddy spring-,
Rulers who neither see, nor feel, nor know,

But leech-like to their fainting country cling.

(a) Name the poem and the poet.
(b) What do you understand by dull race?
(c) Why the rulers are being compared to leeches?
(d) Explain the expression "dull race”.
(e) Why the king is despised?
OR
Happy those early days, when 1
Shine in my Angel-infancy !
Before I understood this place
Appointed for second race,
Or taught my soul to fancy aught
But a white celestial thought

797/6,000/KD/376 [P.T.O.
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(a) Name the poem arid the poet.

(b) What do you understand by "Early days"?
(c) What does poet mean by "this place"?

(d) What is "second race"?

(e) What do you understand by "celestial thought'? (5)

Explain with reference to the context :

All human things are subject to decay,

And when Fate summons, Monarchs must obey.
This flecknoe found, who, like Augustus, young
Was called to empire, and had governed long;

OR

He hangs between; in doubt his mind or body to prefer;

i

Born but to die, and reasoning but to err;
Alike in ignorance, his reason such,
Whether he thinks too little or too much. 3

Answer the following questions in about 30 words :
(@) Why does poet compares true love to pole star?
OR

How does Milton regret the loss of his light?

797/6,000/KD/376 2

(b) Who was Shadwell? g
OR
Give an example of paradox used by Pope in the poem
"Know then Thyself"

{c) Where was little black boy born?
OR
Comment on the expression "mute insensate things".

(d) Explain the following expression "Golden and sanguine

laws".
OR
What kind of farewell does Tennyson wish for?
(1¥2x4=6)
4. Develop Wordsworth's philosophy of nature.
OR
What according to Shakespeare are the characteristics of
true love? (6)
5. Translate the following passage into English :
T IR TF W B TR 2 AR e avie @
ﬁm%ﬁ%%ﬁ%ﬂﬂaiﬂ%_%ﬂ
TE AN TN YR F Y AR TR vk B FRr s
797/6,000/KD/376 3 [P.T.O.



¥ A 7T WU A el fR fee Wt € W dmw
g TN ¥ R WR Aen T Sed F e A8
W Hwa, 7 € FE o WRE fag @ wwa #) R
Fed £ fF fAm i § @ i oW o= frem @
2l (4)
(For Non-Hindi speaking students in lieu of translation)

Read the passage and answer the questions that follow :

Trees prevent the surface soil of the earth from being washed
away by shower. Our earth has a covering of fine soil on
the surface, and under the soil lie rocks of various kinds.
The surface soil supports the life plants, which in turn, supply
the food that animals need. Nature takes millions of years
to form soil an inch thick. But a single heavy shower
sometimes, washes off a good part of the surface soil on a
bare hillside. This will not happen in places where there arc
plenty of trees. Since the trees stop the fair flow of water
and their roots hold the soil together, they prevent the soil
from being washed away. The soil in forests absorbs water
very easily and in this way trees also help to prevent sudden
floods.

797/6,000/KD/376 4

Questions : .
(a) What do trees prevent?
{b) What is there under the soil of the earth?
(c) How much time does nature take to form an inch of

s0il?
(d) What does the surface soil do?

OR

Everyone felt that his end was near. He had grown pale and
frail, but he continued to work hard. His wife was in tears
to see him burning his candle of life at both ends. Then
came the news that Maxim Gorky, the great Russian writer,
was dead. A meeting was called to moan his death and
Prem Chand weak and ailing as he was insisted that he
would attend it. His wife thought him crazy. After all, who
was Gorky to them? He was not even an Indian writer, But
to Prem Chand, Gorky was dearer than his own life. He was
like him a writer who had given blood and tears to his
writings. He was, like Prem Chand, a writer of the poor
people. So this frail man walked from his sick bed to pay
homage to Gorky.

Questions :

(a) Why was Prem Chand's wife stricken with grief?

(b) Why did Prem Chand go to attend the meeting held to
mourn the death of Gorky?

797/6,000/KD/376 5 [P.T.O.



. i 9
(c) Why did Prem Chand like Gorky? (c) Correct any four of the following sentences :

(d) What did everyone feel? (i)  What are the news?

i)  The sister of Ram is very good at cooking.

6. Write a paragraph on any one of the given topics : (iii) No one in their senses can do it.
(a) Morning Walk. ~{iv) Mohan and Sohan help one another.
(b) Terrorism. (v)  Neither of his parents are Indian.
{c) Reading Newspaper. (viy He is a coward man. (10)
(d) My Ideal.
(e) Corruption. (6)

7. Do as directed :

(a) Use these phrasal verbs in sentences of your own :
(iy  Take after
(i) Wipe out

@) Make-up.

(b) Fill in the blank with correct prepositions :

@ I will meet him ... night.
(i) He is afraid ... going there.
(iil) You are devoid ... pereeriines Common sense.

797/6,000/KD/376 6 797/6,000/KD/376 7



Roll No. ... Total Pages : 2
GSE/D-19 800

BOTANY
(Diversity of Microbes)
Paper : 1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting rwo questions from
gach unit. Question number 1 is compulsory. All questions
carry equal marks.

Compulsory Question

1. Define the following :
(a) Anisogamy.
(b) Coenobium.
(¢} Heterothallism.
(d) Prokaryote.
(¢) Saprophytes.
(f) Soredia.

(g) Symbiosis.

(h) Transformation, {I1x8=R)
UNIT-I

2. Describe the structure of a typical bacterial cell. 8

800/2,100/KD/168 [P.T.O.

26/11

3. Give a brief description of the following :

(a) Sexual reproduction in Volvox.

(b) Asexual reproduction ‘in Vaucheria. (4+4)

4. Describe the structure and life cycle of Polysiphonia. 8

5. Describe the economic importance of Algae. 8
UNIT-II

6. Write short notes on the following :
(a) Bacteriophage.

(b) Transmission of Plant viruses. (4+4)

7. Give a concise account of any rwo of the following :
(a) Sexual reproduction in Phytophthora.
(b) Asexual reproduction in Mucor.

(¢c) Sexual reproduction in Penicillium. (4+4)

8. Write short notes on the following :

(a) Economic importance of Lichens.

(b} Acervulus. (4+4)
9, Describe the life cycle of Puccinia. 8
800/2,100/KD/168 2



ROII NO. coveveeveeii,

Time : Three Hours]

GSE/D-19

BOTANY
(Cell Biology)
Paper : I

Total Pages : 2

801

[Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions from

1. (a)
(b)
(c)
(d)
(e)
43
(2)
(h)

each unit, Question No. 1 is compulsory and short

answer

type. All questions carry equal marks. Draw neat and

well labelled diagrams where they are necessary.
Compulsory Question

Define Oxysomes.

What is Granum.

What is Telomere ?

What are Allosomes ?

What is micelle ?

Define Nuclear-pore complex.
Write the significance of Meiosis.

What is cri-du-cat syndrom in a child ?

801/2,150/KD/169

{(1x8=8)

[P.T.O.
30/11

UNIT-1

Describe the Ultra-Structure and function of Endoplasmic

Reticulum.

Write short notes on the following :
(a) Lysosomes.

(b} Structures and Chemical nature of cell wall.
Explain in detail Ultra-structure of chloroplast.

Explain the following briefly :
(a) Golgi Bodies.

(b} Peroxisomes and Vacuoles.
UNIT-II
Compare prophase stage of Mitosis and Meiosis.

Explain the following briefly :
(a) Inversion.

(b) Autotetraploidy.
Describe the structure of Chromosome in detail.

Write short note on the following :
(a} XX-XY type Sex Determination.
(b) Polyploidy.

801/2,150/KD/169 2
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GSE/D-19 803

ZOOLOGY
(Life and Diversity of Coelentrata to
Helminthes and Cell Biology-II)
Paper-II

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Select two questions from each Section A and B. Draw
well labelled diagrams wherever they are necessary.

Compulsery Question

1. Answer the following question in not more than 20 words :
(a) Define metagenesis.

(b) Why is the gastrula of Olelia (OBELIA) is called
sterogastrula?

(c) What is an atoll?

(d) Name all the larval forms of Fasciola.

(e} What is NOR?

() What is Warburg effect?

(g) Name the organs of primary lymphatic system.

(h) What are idiograms?

803/2,400/KD/170 [P.T.O.
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(i) Why human RBC have a very short lifespan?
() Explain telophase. {1x10=10)
SECTION-A
2. (a) Give an account of histology of polyp of Obelia. 4
(b} Differentiate between a polyp and medusa of Obelia.
34
3. (a) Define the phenomenon of polymorphism in
coelenerata. 414
(b) Discuss the general characters of Phylum
Platyhelminthes. 3
4. (a) Describe various larval stages found in the life history
of a liver fluke. 5
(b) Discuss parasitic adaptations in Fasciola. 22
5. Write notes on the following :
(a) Life history of Schistosoma. 242
(b} Life history of Ancylostoma. 22
(¢c) Structure of a Cnidoblast. A
SECTION-B
6. (a) Describe the structure and function of nuclear pores.
414
(b) Write a note on nucleolus. 3
803/2,400/KD/170 2

7. Write short notes on the following :

(a)
(b)
(c)
8 (@
(b}

(b)

Kinetochore
Chromocentre

B-Chromosome. V2 x3=7%2

Give an account of mitosis with diagrams. 5
Why is meiosis called 'reductional division'? Which
phase of meiosis is reductional? 2Ya
What are protooncogenes? How are they involved in

causing cancer? 4

Explain the detailed structure of IgG. What are the
various forms of immunoglobulins ? 3l

803/2,400/KD/170 3
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GSE/D-19 806

ELECTRONICS
(Electronic Devices and Circuits—I)
Paper : I

[Maximum Marks ; 40

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory.

Compulsory Question
1. (a) Explain drift and diffusion currents in semi-conductors.
(b) Explain Avlanche Breakdown in pn diode.
(c) Which transistor configuration is used for impedance
matching and why ?
(d) Why CE configuration is mostly used in Amplifiers?
(2x4=8)
UNIT-I
2. (a) Explain the v-i characteristics of pn diode. 4
(b) What is voltage Regulation ? Explain a Zener diode
voltage Regulator. 4
3. (a) Discuss a pn diode shunt clipper. 4
(b) Explain diode capacitance. 4
806/500/KD/171 [P.T.O.

28/11

UNIT-IF

(a) Explain the operation of a Bridge rectifier. 4
(b) Calculate the Ripple factor, in a half wave rectifier. 4

Discuss the operation of a capacitor filter in a full wave
Rectifier and derive an expression for the ripple factor. 8

UNIT-1III

(a) Discuss the various currents flowing in a actively biased
npn transistor. 4

(b) The reverse saturation current in a npn transistor in C.B.
configuration is 15.5 pA. For a emitter current of
4 mA, collector current is 2.47 mA. Find out the value
of current gain and base current. 4

Draw and explain a circuit to find the static characteristics
of a npn transistor in C.E. configuration. Explain in details
the input and output characteristics. 8

UNIT-1V

(a) Explain and draw the h-parameter model of a C.E.
Transistor. 4

(b) State and prove Miller's theorem and its dual. 4
Explain the operation of a Emitter follower. Using the

approximate h-parameter model for a emitter follower circuit,
obtain the expression for A;, Ay, and Z,. 8

806/500/KD/171 2
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GSE/D-19: 807
Electronics Paper-1:Electronics Devices & Circuits-1

Time: 3 hrs| [Max. Marks: 40

NOTE : Attempt FIVE questions in all. Question No. 1 is
compulsory. Select ONE from each unit.

(Compulsoery Question)
1. (a) Define hole current. How are the electron-hole pairs formed ? [1'%]

(b) Explain why a bridge rectifier would be preferred over two diode

full wave rectifier. (1 ']
(¢) Define peak inverse voltage (PIV) in a rectifier circuit. How 1t

affects the rectifier? [1'3]
(d) Which transistor amplifier configuration is most versatile and why? [1'/]
(e) Define diffusion and drift currents in semiconductors. [2]

UNIT -1
2.(a) | What are the two types of capacitances across a PN junction?

Which of these is more important in forward biasing? (4]
(b) What are the various breakdown mechanisms in a junction diode.

Describe the working of a zener diode. ' [4]

3. (a) Explain the forward and reverse characteristics of a semiconductor -

| diode. (4]
(b) Draw and explain the operation of biased shunt clipping circuits.
Sketch the input & output waveforms. (4]
UNIT -1

4. (a) Explaih the working of a bridge rectifier. What are its advantages
over two diode full wave rectifier. (4]




(b)

5. (a)

(b)

6. (a)

(b)

7. (a)

(b)

8. (a)
(b)
9.(a)

(b)

Draw and explain FWR with LC filter. Find the expression for the
ripple factor.

Derive the expressions for ripple factor and efficiency of a centre
tap full wave rectifier.

What is a voltage multiplier? Draw circuits of voltage tripler and
quadrupler.

UNIT - 111

What is Early effect? What are the consequences of base width
modulation.

Define alpha, beta and gamma of a transistor and obtain the
relationship between them.

Draw and explain the potential curves and minority carrier
concentration of biased transistor.

Draw the input & outpui characteristics of CE transistor. Discuss
the different regions of operation.

UNIT -1V
What is the conclusion of Ebers-Moll model of transistor? Explain.
State and prove Miller’s theorem and its dual.

Find the expressions for transistor amplifier parameters in term of
h- parameters.

Explain the use of Emitter follower.

LES I EES L L

[4]

[4]

[4]
(4]
(4]
[4]
(4]
4]

[8]
2]
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GSE/D-19 810
COMPUTER SCIENCE
(Computer and Programming Fundamentals)
Paper-1
Time : Three Hours) [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions
carry equal marks.

Compulsory Question

1. (a) How does a keyboard in a computer work? 2

(b) Define storage capacity, access time access mode of
Random access memory. 2

(c}) What is machine language? Why it is required? 2

(d) Elaborate the concept of problem solving. 1
(e) What is a program loader? 1
UNIT-1

2. Why a computer system is called a data processor? Explain
working of a digital computer using block diagram. 8

3. Compare magnetic disks and optical disks for data storage,
storage capacity, access mechanism, and storage cost, 8

810/2,100/KD/174 (P.T.O.
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UNIT-11

4. Explain :
(a) Serial port.
(b) Parallel port.
(c) USB port.
(d) Bluetooth. 2x4
S. Elaborate the following function of operating system i.e.,
(a) Memory Management. 3
(b} Device Management. 3
(¢) User login and Password. 2
UNIT-I11
6. (a) Develop pseudo code to find roots of a quadratic
equation ax? + bx + c. 5
(b) What are advantages and limitations of pseudo codes
for computer program? 3
7. (a) Explain steps for drawing a decision table. 4
(b) Explain Bottom-up programming methodology with
one example. 4
810/2,100/KD/174 2

(a)

(b)

(a)

(b)

UNIF-1V

An Array containing six numbers (i.e., 42, 29, 74, 10,
62, 57) are given. Develop selection sort method for
arranging these numbers in ascending order. 5

Explain linear search method for searching a data
element in a group. 3
Why high level languages are easier 1o learn and use?

4

Differentiate a compiler and an interpreter as language
transiator. 4

810/2,100/KD/174 3
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GSE/D-19 811
COMPUTER SCIENCE
(PC Software)
Paper-II
Time : Three Hours] (Maximum Marks : 40

Note : Attempt five questions in all. Question number 1 is
compulsory. In addition to compulsory question, student
allotted will have to attempt four more questions
selecting one question from each unit. All questions carry
equal marks.

Compulsory Question
1. (a) Write short note on Windows Explorer. 2
(b) Explain the concept of formatting in MS-Word. (2)

(¢) What do you mean by pivot table in MS-Excel? (2)
(d) What is the significance of templates in PowerPoint?

(2)
UNIT-1
2. What is the significance of operating system? Explain various
features supported by Windows Accessories. (8)
3. Elaborate on the following :
(a) Mangling files and folders in Windows.
(b) Control Panel. (8)
811/2050/KD/382 [P.T.C.
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UNIT-II

4. Explain various features of MS-Word with suitable
examples. €.))

5.  Elaborate on the following with examples in MS-Word :
(a) Mail Merge.
(b} Macros. (8)
UNIT-III

6. Explain Library functions supported by MS-Excel with
suitable examples. (8)

7. (a) Explain working with charts in MS-Excel? Give

suitable examples, (5)

(b) Write short note on linking and consolidation in

MS-Excel. (3)
UNIT-IV

8. Elaborate on the following concepts in PowerPoint :
(a) Animations and Sound.
(b) Creating, Manipulating and Enhancing Slides. (8)

9.  Explain the concept of Organizational Charts and Word Art
in PowerPoint. {8)

811/2050/KD/382 2
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GSE/D-19 812

COMPUTER APPLICATION
(Fundamentals of Computers and Windows
Operating System)

Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit.

Compulsory Question

1. (a) Define ASCII code.
(b) Define Ram.
(c) Define Recycle Bin.
(d) Define Cache Memory.

Lo B S o I o

UNIT-I

2. (a) What is a computer ? Explain functional components
of a computer in detail. 5

(b) Explain various capabilities and limitations of computer.

3

3. (a) Convert (35910 = () 2
(2ld)g - (), 2

(b) Write note on B.C.D. and E.B.C.D.I.C. codes. 4
812/450/KD/175 [P.T.O.

4/12

UNIT-IT
4. Write note on
(a) Touch Screen. ‘
(b) Light Pen. (4+4)
5. Explain monitor as display unit of computer. Give various
characteristics and types of monitors. 8
UNIT-II1

6. Explain significance of memory in computer system. Provide
classification of computer memory and explain each type.
8

7. (a) Differentiate between magnetic disk and magnetic tape.
4

(b) Explain structure of Hard Disk. 4

UNIT-1IV

8. (a) Define operating system. Justify why windows
operating system is most popular operating system. 4

(b) Write short note on :

(i) My computer.

(i) Windows explorer. (2+2)

9, What are different types of operating systems ? Explain in

detail. 8
812/450/KD/175 2
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GSE/D-19 813
COMPUTER APPLICATION
(Office Automation Tools)
Paper : 11

Time : Three Hours]

[Maximum Marks : 40

Note ; Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory. All questions
carry equal marks.

Compulsory Question
1. Explain the following :
(a) Animation and sound effects.
(by Spell and Thesaurus.
(¢) Tabs and Indents.
(d) Linking worksheet and workbook. (4x2=R8)
UNIT-I
2. What is use of MS-PowerPoint ? What is a slide ? Explain.
Also explain different views of a slide. 8
3. What is Outlook Express ? Explain its features and uses.
Also explain how to configure and use outlook express for
accessing emails. 8
813/200/KD/176 fP.T.O.

11/12

UNIT-1I

4. Explain the area of use of MS-Word. Explain various menus
and commands. : 8
5. How can we make a new document in MS-Word ? Explain
available text styles and text attributes, paragraph and page
formatting. 8
UNIT-III
6. Explain about the structure of worksheet, to create, to save,
to enter data and edit data in a worksheet. 8
7. Explain how to arrange multiple workbook ? Also explain
inserting and deleting rows and columns, adjusting height
and width of columns and rows. 8
UNIT-1IV
8. Explain various mathematical operators in MS-Excel with
example. g
9. Explain various types of charts in MS-Excel. 8
813/200/KD/176 2
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GSE/D-19 816
BIOTECHNOLOGY
(Introduction to Biotechnology)
Paper : 1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions from
each unit. Question No. 1 is compulsory.

Compulsory Question

1. Give brief answer of the following :
(a) What is suspension culture ?
(b) Expand VNTR.
(¢) Define Somaclonal variations.
(d) What is Trade secret ?
(e) Define Transgenic Animals.
(f) What are single cell proteins ?
(g) Define vaccines.

(h) What are Restriction enzymes ? (1x8=8)
UNIT-1

2.  Write short note on the following :

(a) Immobilized Enzymes. 4
(b) Applications of Genetic Engineering. 4
816/550/KD/178 [P.T.O.

4/12

3. Discuss plant tissue culture and its various applications.

8

4. (a) What are monoclonal antibodies and how these are being

produced ?

(b) Write short note on Recombinant DNA-Technology.

UNIT-1I

5.  Write notes on the following :
(a) Role of Biotechnology in Food industry.

(b) Bioremediation.

6. What is IPR ? Discuss its advantages and disadvantages.

4

4

8

7. (a) Discuss role of Biotechnology in treatment of waste

water.

(b) How can Biotechnology help the farmers ?

816/550/KD/178 2
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